101. What is the basic concept of Raman effect?

(A)

)

reflection

incoherent scattering

% coherent scattering

D)

refraction

prwer eflenarey ETHS SEEIUSMS Siig LI WTEs QsrarLg)?

&)
(B)
(©)

@®)

Grdueiiiy
psHder galEdsnd
2685 @alEflznd

ot el

The Epsom salt which is used as laxative is

\4( MgSO, - 7H,0

©)

(€0)

CaSO -2H,0
ZnS0, -7H,0

CuSO, -5H,0

e @erdsSlwims LWeTLIL &dalqll eTLISD 2 Uil 618)?

A4)
B)
©)

D)

CCs2T

MgSO0, - 7TH,0
CaS0, -2H,0

ZnS0, - TH,0
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103. IWhich one of the following is the correct composition of Brass?
(A) Cu-50%;Sn-50%
WCL{ —60% ; Zn — 40%
(C) Zn-70%;Sn-30%

(D) Fe- 40% : Ni — 60%

Epssar_cunmle Wsgemaruier sflwurar 2 Canssswmeuudiar sg6is0 ereren?
(A) Cu-50%;Sn-50%

B) Cu-60% ;7Zn—-40%

(C) Zn-70%;Sn-30%

(D) Fe—-40% ; Ni—-60%

104. What is phototropism?

(A) movement of plants towards chemicals

JE/‘ movement of plants towards light

(C) movement of plants towards soil

(D) response of plants for day length

Gum_GLm_grin9enid erammed erenes?

A)  Qeysafler Geug Qumer Crsdlw Gussid
(B) Qsgsofiar gofl Gpradlu Quésid

(C) Q&qa&mﬁein wer Crrédu Guissd

(D) Qagsefiern gafl sragg) eflener

29 CCS2T
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105. Match the following :

(@)
(b)
©
(d)
(e)

Ranthambore '
Manas
Nagarjuna sagar
Palamala

Indravathi

(@ (b (©)

\/(4 1 3

B) 4 2 1
©) 1 4 3
D) 3 1 4
QUTBSES.
(a) gemsmbLyT
(b) S
(© mranigcen snsi
-(d) LITEILDG)
@ Qpdmeus

(a) (b) ()
A) 4 1 3
(B) 4 TR |
© 1 4 3
D) 3 1 4

CCSszaT

(d)

o

Assam
Jharkhand
Andhra
Rajasthan

Chattisgarh

(e)
5

DIFTLD
SO EHTL
BT

@ rrsevg e

- ESEST

(d)

(e)

5.

ar
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106. Match:

Tribe Region
(a) Masai 1. Angola
(b) Saami 2. Kenya
(¢) Kalinga 3.  Philippines
(d) Bush men 4.  Siberia

(a) (b) © (d)

vg/z 4 3 1

(B) 2 1 3 4
©) 1 2 3 4
D) 4 3 2 1
QumBESS
UILpTIGlg uSl e GrCse
(a) waml 1. omGsren
(b) emd 2. Qsernwum
() sdmusm 3.  Wellienueien
(d) ysrwelsiser 4.  esSAwr

(@) (b) (c) (d)

A 2 4 3 1
B 2 1 3 4
@y 9 2 3 4
(D) 4 3 2 1
= 31 CCS2T
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107. Humboldt ocean current is otherwise known as
(A) Kuroshio current

(B)  Oyashio current

\)9/ Peru current

(D) Florida current

antbGuré FCrm b Geaiaumpraad Hflwiiu@Seamg
A @Crreflwr FCrm L ib |

B) gurediGur Gy b

© Glu(é BCym_L1b

D) yCermAlm FCymLb

108. ‘Sea Smoke’ is common in
(A) Equatorial region
(B) Desert region

Atlantic ocean

W Arctic region

‘SL s sTHTI@IONS STamiiu@eug)
A) ywsdu Grens ugd

(B) ureaeer GyGCssid

©) e oramgs Curmf

D) winsued
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109. Who started Home Rule Movement in India?

\/ Annie Besant

(B) Sathiya moorthi
(C) E.V. Ramasamy

(D) K. Kamaraj

@sdwuneila garenm_§ QussSms 2 TDIAGSeuT wmi?
@) oeaGusen

B)  spduepisd

©) .6l QuAlwmT

D) @.smogreT

110. Tamil Books were printed firstly by whom?

W Rev. Zieganbalg

(B) . Rev. Schwartz

(C) Rev. Grundler

(D) Robert De Nobili

WPHET (PSVNTE SOID LSHSBISET &S L eui wmir?
(A)  SsenumerE muim

B)  seuntiav urdHfwmd

©) Gmer_o gu_afr

M) gruil g Apmaed

= ' 24 CcCs2T
' [Turn over -



111.  Who converted Mahendra Varma 1 from Jainism to Saivism?

(A) Sambandar Mppar

(C) Sundarar (D) Perundevar

weomd wCapdyeroamea @y wssHdlBbg mea WEEHDEG WIHHlwGT wriT?
(A)  sbubsT B)  ouur

(©) amgyrm _ D) QumpCgeur

112. Name the chieftain who patronised Kabilar
(A) Ay

(B)  Adhiyan

\/ Pari

(D) Anj

sy shse Curhilu Abmrer Quwers MGG S.

(A =W

B)  ofwen

(©) wnml

D) s o .

CCSza2T 34



114.

]

113. The Portuguese Sailor who reached Calicut in 1498 A.D. was?

F

(A) De Almeida

\/Vasco da Gama

(C)  Robert Clive

(D) Albuquerque

1498-1b yer(® saraflEGariamamwu e bs Curiggissslu wrad wmr?
Q) g-@Gwwr

B) . aumenGETL_Gmnm

(©) grurl Heveréu

D) eoysts

On behalf of the Justice Party, who won and formed the ministry in 1923 election?

W T.N. Sivagnanam Pillai

(B)  P.Thiyagaraja Chettiyar
(C)  T.M. Nair

(D) M.C. Raja

1923-1b gya(h e Qunm Caigealled tHaa & erturs Qeundl QuHm <4 S SeGFeuT WTT?
(A) T.N. fleugpremb SleTener

(B) P. Hunsgny @&Lq@nﬁ

(C) T.M. prur

D) M.C. grgr

35 : : CCSs2T
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115. Where was the first Indian National Congress met?

(A)  Delhi \/{ Bombay

)

(C) Caleutta ' (D) Madras

s @hdw Casflw sriidlyedilen sal L LD 6THIE Soig WiZ?
(A) QrLee - ' (B) wbumli

(C) sdss5aT _ (D) G;@&rmm |

116. The Forward Block Party was started by whom?

% Subhash Chandra Bose

(B) Motilal Nehru
(C)  Rajaji

(D) Raja Ram Mohan Roy

Uit r'r@ Qenms s & wimymred @(&‘)WL@SDULL@?
A sunrey s;h(é,]r;@ulrrsfu
B) Gmnﬁ;l_wrré‘) Cm(m
(©) U@ﬂél |

D)  prgr prbd Cuorse pmi

ccseT ? 36



117. The institution of Lok-Ayukta was established first in the state of

(A)  Gujarat M/Iaharashtra

(C) Rajasthan (D) Kerala

Cors-uiast wpser apgedlen aThHg wrblassle ®wsEsULLLg?
A) oGgs B) LOSTFTEFL T

(C) grgevgmen (D) Csyerm

118. Who said “The Directive Principle of State Policy is a Novel feature” of the Indian

constitution?

K.T. Shah

(A)
V/ B.R. Ambedkar

(C) Aladi Krishnaswamy Ayyar

(D) B.N.Rao

@pdwu srfluewewidad “ors awsr @ Apdlopans Cardams @iFf o arerswrer LT 6Term .

Fa LG wmT?

@) KT agr

(B) B.R. oywCusgsit

(C) ey fmagemrsmdl i

(D) B.N. greu

= | 37 | CCS2T
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119. The idea of concurrent list was borrowed from
(A)  British Constitution
(B) Canadian Constitution

Irlsh Constitution

\%. Australian Constitution

Gurgtiuigwe GT@Lb-aa@‘é}gJ QuplulLg.
A) @rdorpder &{Uﬁmmm@ulﬂlaﬁﬁ@@gﬂ
B) serrelen .:ml]é?iu.leuwmu R ENRIGES

©)  swirerpden orfweanlile b

D)  edNGoowmellen rdlwaeanoiiSlelmbg

120. In which year the Parliament enacted the Official Language Act?

(A) 1955
(B) 1965
M 1963
D) 1957

eThS GU(RLLD UMTTEHLETDSHa @eud Gwmf sl b Gubniul Lg?

(A) 1955
B) 1965
(C) 1963
(D) 1957

CCS2T | 38
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121. The members of the Central Administrative Tribunal are given status of Judges of High

Court from an Amendment in the year :

(A) 2003
(B) 2004
(C) 2005 :

M 2006

waHHw Sriumu lejl.]tﬁ]ml’ra;@é;@ e wirbflwerm FHuSsarar Dpsavg aupmsiulL L HHSsD

CupQamareriul L e[

(A) 2003
(B) 2004
(C) 2005
(D) 2006

122.  What is the aim of Pradhan Mantri Gram-Sadak Yojana?

MProvide all Weather road connectivity

(B)  Provide all Weather to Tele communication connectivity
(C)  Provide Food Security in all seasons

(D)  Provide Education to all people

“Grsw wHHM Syrw sLréd Curgenn” S sdlear Crrasd (@HlaCandr) org)?

(A) ci@anaumEED SaidE UHeU STQRIGER&HEGLD T eusSHHeeT eSS0
(B) Qsrenaev@smiry cusdlaemen siemandg LHel-SroRSEh&EEGD THL MDS50
C) s@ass uma-sromsalgib 2 ara) uTg&TiL Qadisd

(D) eaeCanmésw sael eusd gpun® deligsea

g, 39 _ . CCS2T
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123. When was the “Industrial Finance Corporation of India” established in India?

(A) January 1, 1950

%July 1, 1948

(C) June 5, 1951

(D) May 1, 1950

“@idu Asmfléd Afsswsn” @bdwuredd aruuruys THURSSILLLE?
(A)  smareufl 1, 1950

(B) mOow1,1948

(C) ggean5,1951

D) Gwl, 1950

124. Which is the biggest nationalised enterprise?
(A) Bharat Sanchar Nigam Limited

(B) Indian Post Department

/ Indian Railways

(D) Oil and Natural Gas Commaission

Ba@uilu Qurgisgien Hlneuand erg?

(A G.erev.cren.eréd (BSNL)

B) @bdwu siErsd gon
(C) @pdw rileGeu g

D) eaanGens erfleumy Hmeued

CCSsaT 40



125.

126.

Identify the mismatch :

(A)  White revolution - Milk

(B)  Green revolution — Food grains
(C)  Blue revolution - Fish .

M ellow revolution - Flowers

seupren QuTHESSmSE HawT (B SHa|b.

(A) Qmmmp yrLé - LImed

B) usew yyLé - 2 emrey Smestlwitd
© Bourd * Sei

(D)  weser Yy d - LéseT

% per year.

National Agricultural policy aims at a growth rate of

@A) 3% \@5/4%

©C 6% : D) 8%

Gaélw Geuermeir Qanarenswneng e (H&EE

Qarearr(Hereng).
A 3% - _ B) 4%
C) 6% (D) 8%

41

sgais aaméflew Cpréswons
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127. In how many years will a sum of ¥ 1,600 amount to ¥ 1,852.20 at 5% per annum compound

interest?
3 B 4 _
C 5 . D) 6

T 1,600 yang) 5% par® sl () aul iy 65510 Qanam® arssmar emdsaiia T 1,852.20 Has@in?
@ 3 | B) 4
€ 5 D) 6

128. Simplify :

| (A) 2%
.1 -ty
© 55
® -2
sosEs:
(3)-popes)oe 53]
(A) 2-(25—;
®B) - 5-;%
(C)_ _ 5:—;
D) - 2%

i
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129.  Find the area of the iron sheet required to prepare a cone 24 cm high with base radius 7 cm

wa/ 704 cm? (B) 702 cm?

(C) 700 cm? _ (D) 668 cm?

24 Qe.18. 2 WD SiguUss T 7 Qs.5. AsreL sby sunrilés Cemeaiwrear QMY S ig.am LFUY

SITEHT &
(A) 704 Qs.152 (B) 702 Qg.52
(©) 700 Q&..52 (D) 668 Q&.152

130. The sum of the series 31+33+....+53 is

(A) 729
B) 341
V( 504
(D) 604

31+33+....+ 53 eremm Agm_flew sa(Hsev crevran?

(A) 729
(B) 341
©) 504
(D) 604
= 43 | CCS2T
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1_31- Find the G.C.D. of @® -1 and a® -1

(A)

®)

©)

D)

132. What percent is 5 grams of 1 Kg?

(A)

5%

\,gc‘(o.5%

1 &Can Spmblib, 5 Symb % eretmen?

&)

© .

CCS2T

5%

0.5 %

44

B)

D)

®)

D)

1%

0.2%

1%

0.2 %

]



133.

134.

1

9% x18% .

The val.ue of - is
3
2 4
5 By =
(A) 2 (B) >
1 ' 32
ﬁ By
81 243
2 4
2 ;1;8 “G*TLD:@I'JLJ
2 4
A = B —=
(A) 3 (B) 3
16 ; 32
g D} ==
© 81 D) 243
The cube root of 0.027 1s
A 3
(B) 0.003
(©) 0.03
W7 os
(0.027) én sar ppeid
A 3
(B) 0.003
(©)  0.03
(D) 0.3
45
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135, If a+b " b+c _c+a

=k, Then the value of k is

¢ a b
A o
® 1
v
D a+b+c

a+b_b+c_c+a

=k aaflé k ar iy

c a b
@A o
®B) 1
© 2
D) a+b+c

136. The ratio of boys to girls in a class is 4:5. If the number of boys is 20, then the number of
girls is

A 15 B) 20

v/ 25 | ®) 26

@ Ll wremeaisdr, wrareluisd ofdsd 4:5. wremaisaier aaramléms 20 aafld
wresrelwflen crawrenfléens
A 15 . (B) 20

C) 25 (D) 26

CCS2T 46 -



137. Given the pie chart. Obtain the pass percentage of student who passed in 15t class.

Passed in First Class
Passed in Second Class

s Failed

Passed in hird Class

A) 35% (B) 30%

€) 10% | o V”( 25%

@is craflau’ L eflerés LL 5P HHE wraeuiser s au@ly Csieéd Qubmpeuiseng eflwsaT®H

GTEHTEnT?

& suGU e Caras
@rermb eu@GU9e Caras 2 Ly 5
12624, 90°
103
Caréé Quprgeurser
epenmd au@Lde Gaired)
©) 10% D) 25%
i 47 CCS2T
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138. India’s first bio-fuel flight was operated between

v(( Dehradun to Delhi

(B) - Dehradun to Mumbai
(C)  Dehradun to Kolkatta

(D) Dehradun to Chennai

@ uraler ape .19 ~ erfQLINser aflionamb @eel o pomisEssfo Cu GUESILLL g
(A) Cuor@en — QLeved

B) CLygr@en — apbemu

©)  GLyrGén - Qarédassm

D) Cupr@er — Qeemene

139. In which of the following states, more number of people were affected by 2018 monsoon?

M Kerala

(B) Assam
(C) Andhra Pradesh

(D) Megalaya

&1 2 ¢er eribomBlegSler 2018 Limeu wenpullanme iHls waser LTS D EGaTarTSent?
A)  Gspord
B) =D

©  =pdly GCgsnd

(D) Cuwsmeowrr

CCS2T 48



140. -The crop which gets affected by pink ball worm is

(A) Banana
(B) Wheat
(C) Mango

\MCotton

GlerepélouiiL Libg Lpeured UrFssu@n uudi

@) ameny
'(3) Camayano
€ wr

D)  umss

141. World’s first Block chain Bond was launched by

Reserve Bank of India

Vm’ World Bank

(C) Hong Kong Bank

(D) State Bank of India

2 adlen Q.pg,e‘p Block chain ugdlygens sidlepsliu@sdu cund
By B s el

B) owsand

(®)) QDTTRISTIE cuildl

D) E@bdHw evCL L eumd

49 CCsaT
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142. Which among the following industries generates invisible exports?

(A) Fishing

' \/{ Tourism

(C) Jewellery

(D) Handicrafts

ﬁieheu@eummﬁ)gum yeouuLrg gpmiwdeaw CernmeliiLig,
.(A) Bemllg Ggmpblen -

B)  sppergop

©)  ugawr Agmple

D) wseamanti QuirpL_sar

143.  Which of the following agricultural commodity of India gives largest interms of export value?

(A) Tea
M Basmathi Rice

(C) Spices

D) Cotton

Qemau(mid sidiCaammeienn 2 Duss QpHwurelen fswrear gpnws LU SmHElams?
(A) Cauflena

B) urevwd M

(©C) pm e AP &ET

D)  umsd -

CCS2T . 90 T



144. Which of the following programme aims at the promotion of savings among rural women?
(A)  Jawahar Rozgar ijana
(B) Pradhanmantri Mahila Yojana

Rashtriya Mahila Kosh

MMahﬂa Samridhi

GemeumeuameunmieT S 1b Symoliyp wsaefifler Gabluenu card@GellliugnaTs SewESILLL §)?
(A)  meuant Crresi Cuirgearm

B) dgsremwpHfl wélerm Cuirgenm

(©C)  gmegfw wdenr Csmey

(D) wderr &mrﬂﬁ

145. Which of the following policy brings 5 lakh acres under organic farming?

(A)  Shyama Prasad Mukherji Rurban Mission

M Pramaparagat Krishi Vikas Yojana

(C) Pradhan Mantri Krishi Sichai Yojana

(D) PM Fasal Bima Yojana

& 2 _aen r&QaTaTNS 5 @b gasT Homsmer Quinpens Ceuerrasrenoulien S Qame(h cumeus)?
A) -si_vrummrr Lpens (psied @ffuain O agerr

B) upbwrurss sflad) eamen CwirgyerT

(©)  upsrenopsil sflafl agsdevmis Gu_lrrg'éarrrr

D) Q.. urse Swr CurgenT

= 51 CCS2T
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146. According to 2018 — 19 budget report, India is at third rank in ~

M Purchasing Power Parity (PPP)

®)
©
D)

Gross Domestic Product (GDP)
Agricultural Production

Foreign Direct Investment (FDI)

2018 ~ 19 ffflene iflsamatiLig Gareumid ereupmieT @bHwr epermmlLSHd 2 cremg)?

(A)
(B)
©)
(D)

curBIGLD Fmer soflene
Qurgs 2 ampm_( 2 Huss
Ceuenmetsr 2_HLGH

SipHw Coiry a6

147. Which currency is recently added in the currency basket of IMF?

A)

(©)
D)

Japanese Yen
Chinese Yuan
Indian Rupee

Brazalian Dollar

BB ® prewrubd sbugde IMF-ar pramws s ule CarsasiiulLg?

A)
(B)
(©)

D)

- CCS2T

suiumesilen Quies
engarmellen ujeumen

@ mumi
9GSl werr Lmeor
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148.

149.

; | Mr
By . 220
M Zero (B) G

150.

1 Femto is equal to ——————— m.

@) 10 | \,m/m-'s

e 10° (D) 10°
1 QuibGLr (Femto) = ————— St

@A) 107 : ®) 10
5 -10° . (D) 107

What is the value of gravitational field at the centre of the sphere?

GM
r

(©) (D) -GM/r?

' Gararl yerefl enowigHer yeluiiiiy yeosdler iy wimg)?

Mr
@) s ® =
0. 22 ®) -GM/r?

r

Which of the following is sensitive to ultrasonic waves?

(A) Man M?nat

(C) Bird (D) Fish

Caerm gellanws 2_ewr(THd SEEMID WT(HEE - 6Targ)?
(A)  vaflgen (B) Qeuereumed

© upeey (D) Ben

53 ccs2T
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151. What happens in the reduction process?

(A) loss of electrons

\M gain of electrons -

(C) loss of hydrogen

(D)  gain of oxygen.

@H&s aflenaruded &Qé&ssﬁ;mﬁ;;ﬁ!d} erestan Hlapdmg)?
(A)  eesiyrearsdt @i
B) s TaSET gL

| (C)  eanymen Gty

D)  aybedigen gpy

152. Galena is the ore of which of the following metals?

(A) Silver
‘% Lead
- (C) Gold

(D) TIron

selan erenLg) SpsaaT_cunhiar 2 arer arhg 2 Cansgdlen srgLIQUTHET?

(A)  Qeugrafl
B) srfwb
©) shsb

@ Qoiy
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153. In higher plants the sporophytic phase is formed after growth and development of the zygote.

Point out the type of cell division involved in this growth.
J Mitosis

(B) Meiosis

(C) Amitosis

(D)  Zygotic meiosis

2 wireuems greugmsaien eCurGrraulys Hlow meGamiyear aarmédl WIHDESTL 2 Haurdpg.
ahs euens Qe Ufley @Ho Gewau@ng eramums s igsaT(H
(A) eowl_Lmedlen

(B) WBwmredew
(C) geawlireden

D)  wsGamiiysd Bwmedlev

154. Kuhne's tube can demonstrate the process of

% Fermentation

(B) Germination of seeds
(C)  Growth of plants

(D) Aerobic respiration

@enev Gmi eThg Hlaperes Hlm9s@wn
A)  Gprdsse

B)  dlwg oz

(C)  smeuy euartas

(D) | STHmEL W Seurdlgse

= 55 ' - CCS2T
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155. A preparation of living (or) killed micro-organism (or) viruses used in prevention of diseases

through immunization is called

(A) Toxoid MVaccine

(C) Viremia (D)  Anti - toxin

2 marer (=) 2wWgHp mewerflu o wWflamsdar (21) emeupdvasmer b 2L dgier Qequsd BLEES
erdliriy s&dlenws 2 (HeusEeusn(E erenem Gluwir?
A)  Lnsmi ' B) s®uUY 2xs

©)  ffiflwun D) afii-pss

156. The source of energy in any eco system are
(A)  Osmotrophs Autotrophs

(C) Lithotrophs (D) Heterotrophs

Gblenaullweiar < hmellar wadlu oETyD
A)  =euGor e e B) < CLrwarewb

(C) gafl wam_ab D) QecsCeugy warLeid

157. The Acid Rain destroys the vegetation, because it contains
(A) Nitrates . (B) Ozone
(C)  Carbon monoxide \}( Sulphuric acid

Sl WaPWNATg Ddass Sraursesun PsEED gamouamLwsg aalle fd L

2_gTaTeney
(A)  eplCGrl (B) ¢Csmen
(C)  sriuer Cureamrgans(® (D)  sowMs o
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158.

Wﬁich of the following statements regarding soil are correct?
I. Soil is a dynamic naturai element

IL. Itis compbsed of both mineral and organic matter

III.  The characteristics of soils depend on parent rbck

IV.  All the soils having a well developed soil profile

(A) = All are correct

W I, IT and III are correct

it

(C) I, 1I and IV are correct

(D) I, III and IV are correct

Qéieumid e GHssren aursdunseid sfluraemeusdr creeu?
I. LOGHT LOMMILD Fesrentd EameRmL @mg’:;ana; smyestl

II. @aser srgsser LHMD 2 ulT LDL@&&rnei) SLETEDE

II.  @emasafler uarry 2 (meurar urepuilamer AUTMEES imwdang

IV. éqmmgg D& GUMSSHEBLD cuaTTéflwent % GMEE el Campnims AsTeariy HEELD

A) Si@aggb sACGW
(B) L II whmw III w @b &f
(©) L II wogd IV wl_ @G efl

(D) I.’ III wpyw IV v G &fl

57
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159. Name the place where the River Ganga and Yamuna joins?

\/ Allahabad (B) Hyderabad

© Delhi (D) Agra

SRS LMD, WApenar M shHEGED QL sHer QU ereen?
A)  esTUTS (B) MADSTTLING
(C) Qread (D) <éor

160. Name the dam constructed across the River Sutlej

(A) Hirakud dam

‘ﬁ( Bakra Nangal dam

(C) Kosidam
(D) Mettur dam

st o @dilar GnEts sl (e simeamular QUi aréran?
A)  ablymEl iemen

B) uapr - PRI @mewT

(C) Csrél senewr

D) Cul@r et

161. In which year Madras Mahajana Sabha was started?
(A) 1881 1882

() © 1883 W 1884

6Thg peanr(h Cgenenet wammen senu-CorbmelssiilL g ?
(A) 1881 (B) 1882
(C) 1883 (D) 1884
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162. Who was the founder of the Thiruchenkodu Ashram?

(A)

D)

E.V. Ramasamy Naicker

C.N. Annadurai

HpEQemGar® SArwsams Hipetlweur wmi?

(A)
(B)
©

D)

.Gleu. grwers BmussT
8 p
TTERTe]

sMHEE

&).cTelT. D|EHTERTTE)En (T

163. Annamalai University was started in the year

(A)

1915

Vﬂ!( 1929

©

D)

1921

1945

DIETERTTLOENED LIDSFMOSHLRSLD 4 TDEGNESIULC L S e(H

(A)
(B)
(©)

D)

1915

1929

1921

1945
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164. Where was the first nuclear reactor of Asia established?
(A)  People’s Republic of China
- (B) Japan

(C) Taiwan
\;Pf’ln&a

2 sRTL_SE6 (pFOTUS DM 2 Me TG HimieuliuLg)?

(A) séser Sené; Gl WIS

B)  smuumer
(C) eseuren
D) @pdwur

165. Who assumed the title “Chittrakara Puli”?
(A) Rajarajal

Narshima I

% Mahendra Varman I

Nandh1 Varman

“Bggramyyel” eremm 6flmg QUi @ L ULl L weernit wmir?
(A) - qpsemid FrEpTTEyeE

(B)  qpsembd prélbwes

©)  @psombd wCsHSlr euiar

D) mHél euioen
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166.

\/ Surat Conference

167.

Which congress conference was attended by Bharatiyar?

(B) Madras Conference

F(C) Bombay Conference

(D) Lucknow Conference

eTh Sridlyen wrHTLig e urFHwunt sehg GarerrLmiT?
A) GrswrET®H

(B) Qsenenen wrmr®

(©  ubumi wrpr®

D) @&Cam waBTH

Who extended co-operation to PuliTevar?
(A) The French
(B) The English

(C) The Portuguese

u{ The Dutch

qaﬂé@gm@és@ DFTE Q&rr@résge-sur'ra;dr wmri?
(A) | 9QyEpasTyTEeT -

B) <RdCawiser

(C) Gurrfré&&élku e

D) Lésssrrnser
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168. Which Act provided Provincial Autonomy to India?
(A)  Rowlatt Act — 1919 '

-(B) Minto- Morley Reform Act — 1909

\/ The Government of India Act — 1935

(D) 'Montagu-Chelmsford Reform Act — 1919

eThG FL LD @(rj,g_ﬂmmélﬁ;@ wrfle swm’§ fsrrsms eupidluig?
(A)  Qrereol_ & L ib—1919

(B) Lm.aar(su-mnmﬂ & mes L 1b — 1909

©)  @pduspemis stLib—1935

D)  wrenGLE-Qsbe SCLTTH &ifméss 6L~ 1919

169. Whom of the following was the Chief Organiser of the Revolt of 1857 in Bihar? .

(A) Amar Singh

M Kunwar Singh

(C) PirAli

(D)  Imaduddin

1857-b e swssfan Curg Spssar. puisaie dsri yrldlar eohrdoeariiumanymes
Bppet wiriv?

(A)  owrélm

B) semeunrt A

(C) St e

D) Quwse Fer
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170. Which one of the following Parliamentary Committee is Semi-Judicial in nature?
(A) Committee on Petitions

(B) Ethics Committee

\y/ Committee on Privileges

(D) - Rules Committee

EDES®TL LMTTEHLENE @&Wesalld ahs e G urd BHufurwear geaewueamLwg?
(A)  eflawemrius @

B)  <ndpdscw

(©)  SApuyfews @y

D) s 5w

171. The Constituent Assembly of India was set up according to the probosals of

(A) The Cripps Mission

W The Cabinet Mission Plan

(C) The Mountbatten Plan

(D)  The Nehru Plan

@psu srdueenwiiy e seu wrmenLw apen@wmifledien Sig v ule ghu@ssinL gi?
A)  SHfdev WBlagenr |

B) Cslen Bager S b

(© mma&larz'_ GuiiLerflLib

D) CreHirwo

= o CCS2T
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172. Which one is not part of the Panchayat Raj?
(A) Smiti

(B) Village

% Township

(D) Zila Parishad

ThS Qenm LEhFTLS TrRWSSD Gldamea?

4) swd
(B) dlymoid
© pﬁmmm

D) Heoorufsrs

173. Which part of the Indian Consﬁtutior_l deals with Fundamental Duties?

(A) Partll
~(B) Partlll
,}/ Part IV A

(D) PartV

@nHw aqﬂmmmmﬁlﬁl;‘b Dy IUML S SLLOEET 6Ths LGHUdle eT(hsgieyasliul (Hemend)?
@) ursbII ‘

B)  umsb III

©) umsb IVA

(D) urebV

CCs2T _ 9



174. Metro Rail Service is available in
I Chennai
II.  Coimbatore
III. Trichy

IV. Madurai

% I only

(B) IandIV
(C) TandlII

(D) IIandIII

QuL_Cyr guiler Caeneu cugs) o girem @)L Lb.
I. Qeenenen

II Csrwbysgm

III. SHm&s
IV. wgenr
A)  Twlew

B) I wpmw IV
(C©) Twomwnll
D) I womw III

= - 4o CCS2T
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175. As per 2011 census the total urban population in the state of Tamil Nadu is

(A)  27.48 million

W 34.95 million

(C) 36.04 million

(D)  42.50 million

2011 wéser Agrens sansCaBUdanulyg. SUOIDHTIgH F&TUD WEEET Q5Tms
(A)  27.48 HéeSwen
(B)  34.95 Soehwen
(C)  36.04 Weaeblwen

(D) 42.50 Bodluen

176. Which district of Tamil Nadu produces the highest output of food grains?
(A) Villupuram

(B) Cuddalore

VV Thanjavur

(D) Nagapattinam

SODBHT g6 eTHS el LGl 2 amey sraflumser odswns 2 pusHundpg?

(A)  efSpuyrod
(B) sLgur
(C)  seveTayT

(D) presulgend
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177. At what rate of interest compound interest per annum will ¥ 640 amount to ¥ 774.40 in 2

years

A 8% B) 9%

M 10% D) 11%

2R Fal_(H eu_1qulled ereran s56isSSHl . 640 eng Qrent(h mHisaflen op. 774.40 y@Ww?
A 8% B) 9%

© 10% | D) 1%

178. A circus tent is cylindrical to a height of 3 m and conical above it. If the base radius is 52.5 m

and slant height of the cone is 53 m, find the area of canvas required to make the tent.

(A) 315 7 m?

7 30975 7 m?

(C) 27825 7m?

(D) 2997.5 7 m?

(T FT&HE aixt_rrf;mrrsﬂgj 3 5 2 wipaperer 2_®%E>G‘JTLI5]63T 155 salbLy Samopgth Cumenn cugeugSleereng).
2iFeT 2iigIL&S 2u7b 52.5 15, smbGer smuywird 53 B erafléy, Diden_myb Dieminéas Comeuwimer Slggmen

siefllen UTioUs SamES S,
(A)° 315 752

B) 3097.5 7182

(C) 27825 x .82

(D) 29975 752 -

= . 67 CCS2T
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| , :
179. Area of a square is ¥ hectare. The diagonal of the square is

(A) - 250 metres

M 100 metres

) . 5042 metres

(D) 50 metres

G sGITSSem LiTliLeTey % g&a, aafld sgirsdlen ppenaedli_Lb 2 GLD.
(A) 250 Sl

(B) 100 S

(©) 5042 8

D) 50 BScd

180. The surface areas of two spheres are in the ratio 9 : 25. Then their volumes are in the ratio

(A) 27:75
V( 27:125
(C) 81:625

(D) 729:15625

@ Careriisafian umuuqﬁuerreqase'rr 9 : 25 erep eNHlgsdler 2 ereng). eupdlen ser iaTa setle

cldls0

(A 27:75
(B) 27:125
(C) 81:625

D) 729: 15625
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181. Complete the series 1ZA, 3 YB, 6 XC, 10 WD, ?

(A) 14 VE
(B) 15 UE
(©) 12 VE

\;wf'15VE

1ZA, 3YB, 6 XC, 10 WD, ? arénnp cuflengenw Byiys

(A) 14 VE
B) 15UE
© 12VE
®) 15VE

182. The product of two numbers.is 1600 and their HCF is 5, the L.C.M. of the number is

'W.’SZO

(B) 1605
(C) 1595
(D) 8000

B eramsaian Aumssd Ggrens 1600 wHmb imausalian 18.Auma. 5 erafld aamaaian 5.8.0.

< G1D.
(A) 320
B) 1605
(C) 1595
(D) 8000°
= | m | © cesaT
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183. A man sells two wrist watches at Rs. 594 each. On one he gains 10% and on the other he
loses 10%. Find his gain or loss percent on the whole

(A) Loss % =90%
(B) Gain % =5%

M Loss % = 1%

Loss % = T%

@m @assgeTrRsd @aQeuraienud . 594-&@ et lpori. @eieurny eNHnda
10% @Qeruep wppHd 10% HLL WL JjuMmEEG FHULL . Qwrsssdd SaumeESE gHulL amuid
@@ HLL &56IHD STaRTSH

A) - prL szeSsb = 90%
(B) @eorub esaisd = 5%
(©) plLsgeisd = 1%
D) plLsseisn = T%

2
184.  Simplify : 332 x(2 )

(24)" x84 x4
V/ 75 ®) 7%
© 62 ® 62
——
) 7% (B) 7%
©) 6% | ®) _6%
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185. The principal amount triples itself at 8% per annum over a certain time. Find the number of

years.

(A) 20 years

W 25 years

(C) 30 years

(D) 35 years

é@ GIUALL ssreng 8% aully eissHd assmen yamBaafler aperm WL RSTEGD eTand STerms?
A) 20 eugpLrauger
(B) 25 aumLruser
(C) 30 eumLrisar

(D) 35 cumLruser

186. What number should be subtracted from each of the numbers 54, 71, 75 and 99 so that the

remainders may be proportional?

(A) 1
B) 2
v s
D) 6

54, 71, 75 wpmib 99 e @aQeunm aRTE@ILED THES TRTMME SHSTD s BHD

s0ldsEHb BmEGH?

@\ 1

B 2

© 3

D) 6 -

71 CCS2T
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187. Six men working 10 hours a day can do a piece of work in 24 days. In how many days will

9 men working for 8 hours a day do the same work?

(A) 10 days : (B) 15 days

/ 20 days D) 25 days

6 opanaer e Geuenaerw prblamenmsg 10 weanfl Cryb Coume Qawg), 24 prisefld pglu.

9 - yanser, prlamamse 8 weafl Cryw Catera Qewigmed, erdsaman prisafled euCouameen

Puur?
(A) 10 priser _ (B) 15 priger
(C) 20 prser (D) 25 priser

188. A can finish a job in 20 d‘ays and B can complete it in 30 days. They work together and finish
the job. If Rs. 600 is paid as wages, then the share of A and B

(A) 240, 360 (B) 300, 300
\/ 360, 240 ' (D) 400, 200

A eramua @ Cauemaenw 20 prlseflgud, B eramucuir 2Cs Goumaans 30 priseafigib apglur. ‘
Bmeumd Cobg GCouema Gauig), sieuGaumaenu wigdg . 600 o smsa aumeunursl Qubpent
erafler A whmib B & ukig erenen?

(A) 240, 360 (B) 300, 300

(C) 360, 240 _ (D) 400, 200

189. If the average of the values 18, 41, x, 36, 31, 24, 37, 35, 27, 36 is 31. Find the value of x.

w/ 25 (B) 24

(€) 30 (D) 26

18, 41, x, 36, 31, 24, 37, 35, 27, 36 @euppler synefl 31 erafle x Gew iy eremen?
(A) 25 (B) 24
(©) 30 D) 26
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190. Find the difference between simple interest and compound interest for a sum of Rs.8,000 lent

at 10% p.a. in 2 years.

A) - ._Rs.'?O

\)/ Rs.80
© Rs.90
(D) Rs.100

5.8,000-&@ 10% euliy oS Qram® am@aeie Lol s@w al () el ysEh gail agsEn

2_drer eNFHLITFSMNSE HTewTa:.

A) .70
B) .80
©€) .90
D) 5100

191. The national fruit which is common for Phillipines, Pakistan and India is

(A) Banana

(B) Fig
% Mango

(D) Jack

.ﬁicﬁlumush@'u, urndlevgmer wHmib @bHw priHsafier Curgeurar Caflw LD

A) ey
B) =5d
(C) o
D) uer
= - 73 CCS2T
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192. In which city the first Nepal — India “Think Tank summit” was held?

G

(B)

New Delhi
Kathmandu

Dehradun

W Kolkata

apparsda s Crumer — @pHwr “Think Tank wrer@” peoLQubng?

A)
(B)
©
)

Lglig el
SMHLoGHT (B
Gl.!ﬁr@ﬁ'ﬂ

QaressgT

193. The campaign to create awareness among children to identify sexual abuse is

Safety is in your Hands

w/ Our safety, Our rights

©)
(D)

Save child, Save future

Child safety in police hand

unellen gl MmN AL WMeTD sTemr GWhengsafien Cu eflifitienriey UL CupElamareriiu’ L

Qyéamyid
- Uiy e
(B)  pb uNgSTIL, Bib 2 Aopiod
©) Bybas uTgsTUL, Grgﬂfra;m; LTS
D)

CCszaT
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194. NREGA gives guaranteed employment for
(A) 50days

M 100 days

© 150 days
(D) 200 days

Csflw oays Couane. eﬁrru]ﬂq Sl (NREGA), CGaume o gdflraursbd aflsgn priseaflen
‘GTafﬁTGEUﬂéSGE)&? | -

(A) 50 prisaer

(B) 100 priser

(C) 150 priser

D) 200 pm _ser

195. The concept of Goods and Services Tax (GST) was originated from

w/ Canada

' (B) USA
(C) Britain
(D) Germany

Quirger o> Gaees aufl (GST) ardrug) b e Cnendlug?
(A semnm
B) =0wiss psHU BEIE
(C) 9fl e
©) Qgiwved

% ' 75 e CCS2T
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196. Black revolution is related to
' (A)  Fish production (B) Coal production
Crude oil production (D) Mustard production

s(menw LrL& @sai e Qam_mjeniuwig

@A) * Bare pugd B)  Hossh e pusd
(C) sésmaram@anni 2 HLSS D) shE2musd
197. Budget 2017 has proposed ————— as the front office for issuing passport in far flung
areas.
(A) Airport (B) Telegraph office
Post office (D) Railway station

2017 fiffleoa siflsamsudlier st g uGssald sL_af () uPRIGMUSDE PFMD IIYIIDSLONS
oflelisstuL g ergy?

A)  eflwrer Hlevawid (B) &5hF DQieuasid

©) sum Hevewbd D) yewseuerty. Hlevawitd

198. The facility announced for Senior Citizens in Budget 2017 — 2018 is

M Aadhaar enabled smart card

(B) BHIM App
(C)  Shakti Kendras

(D)  Pension scheme

2017 - 2018 Hfflewa iflsmsuie apss G 0éas@ErésTs SDlelsai L euss
(A)  <ysmHLeT QMETESILLL GODNTL. DL

(B) Q.erég.erib. Gewell |

(C) 558 emwwirser

D) euapdw dlcd
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199. Golden Handshake scheme is associated with
(A) Establishing joint enterprises
(B) Inviting foreign companies

(C) Private investment in public enterprises

W Voluntary retirement

BHEIG MEGRIEGD S LD Gs@L e AT wig)
(A sl ® BnyeuamhisemeT o (heums @ s

(B) Qouaflpr® slmcuermmismen Dienpssa

C) <wedpauamseid gaflumi ngsﬁ’@

D)  A@moueuey

200. Which of the following scheme has the objective to skill 1 crore youth in the next three years?

(A)  Start up, stand.up

% PM Kaushal Vikas Yojana
(C) MNREGA

(D) Deen Dayal Upadhyaay Grameen Kaushalya Yojana

Weeu@pd arhs S b AHSS paiy amhisaien om Carg @amergsisafiar Smer Cubum_ghHars
2 (HeUMGHILIL L &7

(A ol 30, oL Ter

(B) G.enb. Qaarsed ellsmen Cuirgesm

(C)  enb.cran.gyi.E).g).er.

D)  Benswmer 2 urwmi Hymblen Aseragarws CGuimgen

= ] CCS2T
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